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ROLL NUMBER MATHEMATICS - 10th Supdt Sign & Seal

NOTE: There are three sections of this paper. Carefully read the instructions for each section and attempt -
accordingly. Attempt all questions of Section-A and retum it to the Superintendent within given time,
even if you have not attempted any question. No marks will be awarded for cutfing/erasing/overwriting.

SECTION-A
Time Allowed: 20 Minutes Max. Marks: ::i

1. There are four possible answers (A, B, C, D) for each question. Select the correct one and write it in the
answer box.

i, Inclass interval (5-9) the upper limit s .......... [A)5, B)6, C) 8, D) Torermevciscermsseosssemsieasecserses

il Indata7.9, 8.7, 13.5, 12, 152, 14.1, the arithmatic mean s ......... [A) 85, B) 11.5, C) 123,
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ix. The degree of the polynomial 1+19x—x%is .......... [A) zero, B) one, C)two, D) three]...........con.

X, PoRt{21) lies ... [A) in 1st quadrant, B)in 2nd quadrant, C)on x-axis, D) on y-axis]...........

xi. The solution set of the radical equation {x+9=5s ......... [A){5}, B) {8}, C) {16}, D) {(&)] ...

xii. Eliminating "t" from x=13t, y=5t we get .......... [A)x=y, B) 5x%=3y, C) 3x=5y, D) none.cccocs] |

xiil. fv=<tthen ... IA]v— B) Vel C) Wkt D) VKSB....ooecmesmmssissssasssmmsonssussspsmsssarssssssssssstpsassasanss
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xiv. If 2= =3 £ then e exhibits the property called ........ [A) componendo dividendo,

B) invertendo, C) alternendo, D) continued proportion]

.......................................................................

xv. I x:15=25:30 then x=........... [A)15.2 Y126 Y53, DYO0).ciicsciinciiiivssiisiaiisiinsan
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